560KG ENGIN

560KG ENGINE STAND
Owners/instruction Manual

YA

[/ A58

Manufactured and packaged for SRGS PTY LTD ABN 23 113 230 050
751 Gympie Road, Lawnton, Queensland 4501, Australia

PLU 219511




CAUTION:

1. Do not exceed the maximum capacity of 560kg.

2. Use only on hard level surfaces.

3. Never attempt to move a loaded stand across floors having cracks or other

obstacles which might impede movement of wheels.

4. Never work directly under a supported engine.

5. Be sure the load is mounted securely to the stand before commencing
engine work.

. Periodically inspect the stand to ensure its safe operation.

. Failure to follow any of these instructions may result in property damage
and/or personal injury.

WARRANTY

This product is guaranteed against defects for a period of 12 months from date of
purchase. This warranty is provided by Super Cheap Auto Pty Ltd ACN 085 395 124
(Supercheap Auto) of 751 Gympie Rd Lawnton QLD 4501 Ph (07) 3482 7500. Supercheap
Auto will offer a repair, replacement product or store credit if the product is assessed as
being defective during the warranty period.

To claim under this warranty, take this product to the Front Service Desk of your nearest
Supercheap Auto store. For store locations, visit www.supercheapauto.com.au (AUS)
or www.supercheapauto.co.nz (NZ). You will need your receipt or proof of purchase.
Additional information may be requested of you to process your claim. Should you not
be able to provide proof of purchase with a receipt or a bank statement, identification

~N O

showing your name, address and signature may be required to process your claim. PARTS LIST
This product may need to be sent to the manufacturer to assess the defect before Part No. | Description Qnty | Part No. | Description Qnty
determining any claim. Faults or defects caused by product modification, misuse and 1 Rear Upright 1 12 Castor Wheel 4
abuse, normal wear and tear or failure to follow user instructions are not covered under 2 Handle 1 13 Bolt M8 x 15 16
this warranty.

3 Handle Grip 1 14 R Clip 1
Our goods come with guarantees that cannot be excluded under the Australian Consumer 4 Backing Plate 1 15 Front Beam 2
Law. You are entitled to a replacement or refund for a major failure and for compensation . . .
for any other reasonably foreseeable loss or damage. You are also entitled to have the 5 Locking Pin 1 16 Assembly Pin 1
goods repaired or replaced if the goods fail to be of acceptable quality and the failure 6 Nut M14 4 17 Rear Beam 1
does not amount to a major failure.

7 Washer 14 8 18 Bolt M12 x 90 2
Any expenses incurred relating to the return of this product to store will normally have to 8 Bolt M14 x 65 4 19 Support Bracket 2
be paid by you. For more information contact your nearest Supercheap Auto store. -

9 Mounting Bracket 4 20 Bolt M12 x 70 1
The benefits to the consumer given by this warranty are in addition to other rights and 10 Washer 16 21 Washer 12 3
remedies of the Australian Consumer Law in relation to the goods and services to which
this warranty relates. 11 Nut M8 16 22 Nut M12 3







